R TR ey FT: 3039-2038

TR TS TR NS 37 7€ ©fE T 2030-3038
91'-‘fﬂ'l‘-1 : 30035 FWqIA: S TOI

(a&ﬁmmsmsﬁﬁwmmwmemwrm)

1. TG 2 e ™ Rfsgren wta s
(A) FZzTs wi% (B) Tz
@ e (D) T
2. “IFEA (0 Kia1 B W o AW
(A) T (B) grEm
(C) *iXemsmi @
3. e em W fifeyere waafy <
(A) &3mzm (B) xm .aﬁwf (D) w3
4. @R AT AT e e e 1 W
(A) Ty (B) WG
(C) ferie=d .@m
5. TS AeR IV G (@ 2197 WY T3 TS
FARSES TWR? :
AWz @R O (D)
6. M T2 7T NI IF7

@t B)#2  (©) R (D)wem
7. I (ITE UIFTE FTAC TWERGT AT T =17
(A) Freerzrs @ (B) criferameadt cere
(C) & @ 5 fum e
8. TR @7 FoRA T TR
(A) 7 o @ w1t s
(C) ciBT=mERT () ciiai i
9. THSY (P GO €A (AT PO RM |
@ s (D) rererf
10, T3 (T=A (FTH STF (R 7 =252
(A) regics (B) T
(C) z<fres @
11, e (Mollusca) =i 3537 =12
(A) vz =W, T (B) (A (X7 <
(C) = oA WIS 7R .mﬂﬁ
12, Wiy e omy e Eky Dy
(A) STRreTs (B) i¥eors
(C) rs .Eﬁﬁﬁ
13, TS ARTIICE TS vt s 3oy
(A) efanemten (B) s
ILCFTSTS (D) "R et=om
14. 360 = s fo oy
@ e (B) crm-wrm
(C) frwz (D) Bo-fren

15. wraeacza FefFmmiRs com @i

@ et (B)TEw
(C) W (D) <3 75t

16. 912015 @ T NS (FTEETICE T T —-- |
(A) =% e (B) &g co1¥
. CoF o (D) &= 7Y

17. @5 stop codon?
@ vaa uac.uca  (B) UL, UUC, UUA
(C) ucu,ucc,ucA (D) UGU, UGC, UGG

18.@R #fBT (AT Feww ITA?
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(C) transmission (D) transformation
22, & 30 %o aren sPmad Tofiges

(AYAbelmoschusiesculentus

(B) Gossypium herbaceum

(C) Datura metel
. Zea mays !
23.T33 TN (FF K2THE T AT G2
‘ TR (B) 5% T4
(C)=2z (D) wrzvm =faw
4.z DT @Emor
(A) Protoderm (B) Procambium
. Xylem tissue (D) Ground meristem
25.(FF WFLE AEATEE (39 T
(A) == (Orange) (B) ===1a7r (Blue)
(C) @z (Violet) . " (Red)

26.<% ] I0FTE ¢€F ¥20E T ATP ¢ NADPH
+ H* =zrss =32
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91. Which spelling is correct?
Exaggeration (B) Exageration
(C) Exaggerration (D) Exagerration
92. Do you feel like ----?
(A) talk to me
(C) will talk to me

. talking to me
(D) talked to me
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93, The passive form ©

f the sentence “Don’t
ave-nots™ is ===-.
hugll“c?lr:tl:f t:::\;::a:}g-nols be laughed at
(3) Let not the have-nots be laugh at ]
(C) The have-nots should not be laughed at
(D) Let the have-nots be not laughed at
94. [1ow ---- to the airport from }hc hotel?
(A) you got . did you get
(C) got you (D) you did get
95, Pantho had left his book ---- the bed before
he got ---- his room.

(A) at/into on/out of
(C) in/towards (D) by/on
96. Our next chemistry class is ---- 11 o’clock
---- Tuesday.
(A) in/from (B) onby
. at/on (D) around/in
97. This price is by far ---- onc you can ever get
for this phone.
(A) as good as @ e best -
(C) better (D) the better

98. She ---- the room a few minutes ago.

(A) has left (B) was left
. left (D) leaves
99. He doesn’t seem to be ashamed ---- his
conduct,
(A) for (B)in . of (D) at

100. Semetimes I'wish -=-- the guitar.
(A) T'shall play (B) I can play
2(C) I play I could play



